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Instructions for the candidate :-

1. qerreft JUTEYd U vl H B STN T |

Candidates are required to give their answer in their own words
as far as practicable.

2. <R ek BRA W RY g e it A o §
Figures in the right hand margin indicate full marks.

3. 9 UF Bl FYdD Y b oy 15 M &1 AfaRad wHa faar 7
g |

15 minutes of extra time has been allotted for the candidate to

read the questions carefully.
4, T YIA-UA 9 @Uel H 7, GUs—3l, WUs—9 UG @uvs—9 |
This question paper has three sections : Section-A, Section-B

and Section-C.

5. WGUS—3 H 70 IS UL B, 379 I bl 35 U &I SR <, 35 ¥
¥ IR o o R § bl UM 35 IR BT & Jedidhd fhar
ST | (F& & forg 1 3fd MgiRd 8) 39dT SR SUael axi T
OMR—TR U3& H & T |E g B Bl /el dfcT U ¥ WX |
ol I UPR & ®EeR /TR U /=fs /ARG fe &1 OMR
ofic & TRRT &R AT &, AT Tien URomH M= 81 |




In Section-A, there are 70 objective type questions in which 35
questions are to be answered. In case of more than 35 answers,
only first 35 will be evaluated. Each carrying 1 marks. Darken
the circle with black/blue ball pen against the correct option on
OMR  Sheet  provided to  you. Do not use
Whitener/Liquid/Blade/Nail on OMR Sheet, otherwise the result
will be treated as invalid.

6. Gus— H 20 TSI U B | (P & fory 2 ofw FgiRa 2) o
I i 10 vl & SR < |

In Section-B, there are 20 Short answer type questions (Each
carrying 2 marks), out of which any 10 questions are to be
answered.

7. Gus—g H 06 IH IRG T AU MU | (IJ® yH B fov 05 3®
FeiRa 8), 59 9 =l 3 Uel & SR < |
In Section-C, there are 6 Long answer type questions (Each
question carries 5 marks). Out-of which any 3 questions are to
be answered

8. fodft g & golacife—aa &1 STt afvid 2 |

Use of any electronic device is prohibited.

Tus—3 (axqfs u¥)

e W& 1 9 70 H 9R eeq Ry W € 59H 9 ot W8 2|
AMH OMR—3E W a4 f[ddhed &1 fafted &=ar gmm| fbdl A1 35 Fardl &
A < |

Question Nos.- 1 to 70 have four options, out of which only one is

correct. You have to mark selected option, on OMR Sheet. Answer any 35

questions.

1. Which one is not a Data Structure?
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HIT—T ST AT 8 & ?
A. Queue
C. Clrscr ()

getch () is a/an
getch () T ... g

A. Input function
C. variable

float is a/an
float T ... g

A. function
C. constant

String.h is a/an
String.h T& ... =

A. data file
C. linker

Which one is a DCL command ?
&= 91 DCL &Hrvs 8 ?

A. Roll back

. Tree

. Stack

. output function

. data type

. operator

. data type

. header file

. program block

. Insert



C. Create D. Update

Arrays may be defined with ............

Array............ & AT gR¥ING fhar ST dabar §
A. Only columns B. Only rows
C. Only one cell D. Both columns and rows

Which one is an output function for stack?

WFH & oIy S AT 3MSTYS HaH ¢ |

A. POP B. PUSH

C. Binary D. Traversal

Changing data type in run time mean ?

3T g9 H ST <Y ol &1 3ref § ?

A. Summarization B. Elimination

C. hiding D. Casting

Functionsisa featureof .................

Functions .............. T U fa9wdr 2

A. Procedural programming

B. SQL



10.

11.

12.

13.

C. Non Procedural Programming

D. Object oriented Programming

Classes are source of ...............

BEMG o & Ed B ?
A. Design of object B. Creation of object
C. instances of object D. Not related with object

Identify the incorrect option.

o fddhed &I Ugar |

A. < = size of (bool) < = size of (long)

B. size of (float) < = size of (double) < = size of (long double)

C. size of (char) < = size of (long) < = size of (Wchar-t)

D. size of (N) = size of (signed N) = size of (unsigned N)

Base of binary number system is ?

g e} RIeq &1 3R © ?

A. 10 B.8

C.2 D. 16

In Boolean variable A.A represent ..............
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14.

15.

16.

17.

C.2A D. 1

Which one is not a DCL command in SQL ?

SQL # &9 91 DCL ®His =81 8 ?

A. REVOKE B. COMMIT

C. DELETE D. GRANT

Which of the following SQL command used to change data?

1 SQL PHITS A B9 ST Bl daadd & ol STIRT fhar Srar 27

A. CREATE B. INSERT

C. SELECT D. UPDATE

Which of the following is valid computer network device?

frfaRad @ 9 o9 91 9 R Acad feaey © ?
A. LAN B. NIC
C. WWW D. MAN

Which of the following will not return a value ?



18.

19.

20.

21.

frfeRad 9 9 &9 T Hed 9| T8 B 7

A. null

C. empty

B. void

D. free

Which of the following is a valid computer network application?

frfaRad @ 9 o9 91 9 R Acad Yfaamee § ?

A. BUS
C. email
Longis al/an ........... ?
Long T& oo g7

A. Built in data type

C. Derived data type

Queueisa ............... ?

A. Derive data type

C. header file

B. HUB

D. NIC

B. Constant

D. Variable

B. function

D. Data Structure

In which type do the enumerators are stored by the compiler ?



22.

23.

24.

HHTSeR [ UHR & TgANSH Dl R I_d 3 ?

A. String

C. Float

OOP is based on ?

OOP fw W= 3meRd © ?

A. Program & Process

C. File and Disk

Pointerisa ?

A. Variable

B. Method

C. Data

D. Design of data and methods

SOP stands for ?

SOP &7 371ef 2

A. Sum of Product

C. soft on Process

B. Integer

D. String & float

B. Function and Data

D. Input and Output

B. Same on Product

D. Sample of Program



25.

26.

27.

28.

29.

Domain value is ............. ?

A. Data type

C. Attribute Name

A. Device

C. Topology

GSM is related with ............

A. Computer Network

C. Mobile system

B. Data under column

D. Entity Name

B. Function

D. Language

B. Computing System

D. Internet

Tera byte (TB) is unit of measurement for ?

T d1ge () feaas 719 & ghTS ® 7

A. Light waves

C. Computer’'s memory

Typedef is a/an ?

B. Speed of air craft

D. Band width



30.

31.

32.

Typedef T ... g7

A. Keyword B. Constant
C. Variable D. Array name
Information security is related with ............ ?
AT GRET oo q Hefd § |

A. Hardware Protection

B. Server Protection

C. Internet access Protection

D. Online Fraud & Crime Control

SUM() function returns?

SUM() Bz Rest gar 8 ?

A. Highest value B. Lowest value

C. Addition of Number D. Positive value
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33.

34.

35.

36.

GROUP BY clause helps to ........... the table data.

U 91T Feltol  TIA ST ..o ¥ WEg PRl B |
A. Summarize B. Sort
C. Group D. List

LED monitor is a/an ?

TS el AIfER TP ... g7

A. Input device B. Output device
C. Memory unit D. Processing unit
WLL stands for ?

WLL &7 #derq 8 ?

A. Wireless Low Level B. Wireless Lowest Loop
C. Wireless Local Loop D. Wireless Local Line
To which of these enumerators can be assigned ?

S W e TRex BT T W e § ?

A. integer B. negative

C. enumerator D. all of the mentioned

11



37.

38.

39.

Can two functions declare variables (non static) with the same

name ?

a1 <1 function Td & M & 91T TR (R ReR) 9Iffd &= dad & ?
A. No

B. Yes

C. Yes, but not a very efficient way to write programs

D. No, it gives a runtime error.

The operator used for dereferencing or indirection is ..........

De-referencing 31T Indirection @ foldl SUIRT 89 dTel 3TRCX B ...
A~ B. &
C.-> D.->>

Which one of the following is not a possible state for a pointer ?

o= % @ I U digeNy & forv e guifag Rerfy =&t & ?

A. hold the address of the specific object

B. point one post of the end of an object

C. zero

D. point to a type
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43.

40.

41.

42.

Which of the following is illegal ?

fa=forRag & & P19 31y 8 ?

A. int*ip; B. string s, *sp=0;

C. int I; double*dp=4&l; D. int*pi=0;

What is the index number of the last element of an array with 73

elements ?

73 A<dl @ AT Udh RO @ QA aw & gEdie der & g ?
A 71 B. 72

C.73 D. Programmer-defined
How are the constants declared ?

ReRie &9 9T fby o € 2

A. Const Keyword

B. # define preprocessor

C. both const Keyword and # define preprocessor

D. S define

The .............. mode tells C++ to open a file for input
.............. A€ $TYC @ oIy Udh BIgel @ia @ fofy C++ &I 9dma 2 |
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44,

45.

46.

A. add::ios B. in::file
C. ios::app D. ios::in

Using the wardrobe structure within the ShopList structure is an

example of a good programming principle, known as ...........

ShopList GaT & WX AART ARAAT BT SUANT HRAT Uh  NTST

YR RIgid &1 Ua SeeRvr &, ™R . & wq H ST S
g |

A. reusability B. polymorphism

C. redundancy D. recursion

When you omit parameter from a function call, value can be

provided by.

g MY bl B didd A URTHIexy &l gerd & o A9 o P
gRT Ue fhd 1 9ahd 2 |

A. Formal Parameters B. reference parameters
C. Overloaded parameters D. default parameters
The first element in a string is

Uh RET # ugell a<d 2 |

A. the name of the string
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47.

48.

49.

50.

B. the first character in the string

C. the length of the string

D. the name of the array holding the string

Variable declared outside a block are called ............

frd) =iip & I8 TINT TR Bl o BB ST ©
A. global B. universal
C. stellar D. external

A. edited code B. object code

C. source code D. translated code

A fundamental data type such as int or doubleisa ............

TH Hifeld STl UHR W € IT S ... g
A. programmer-defined type B. complex type
C. nonscalar type D. scalar type

The returns type you code for all constructorsis ................

Tl dgded B forv omus gRT e a1 Red 9o ...
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51.

52.

53.

A. Void

B. the class type

C. the same type as the first data number defined in the class

D. no type

When an object-oriented program detects on error within a

function, the function .............

9 By difecige—ARYSs U™ fBdAT Bhae & Wak o JfS BT uan

A. throws an exception B. throws a fit
C. catches a message D. catches an exception

Using a statement at the wrong time or with an inappropriate

objectcreatesa .................

Teld FHY W I AT g D A1 BT BT SUAN HRAT T ...

T & |
A. logical error B. syntax error
C. compiler error D. language error

When you create a derived class and instantiate an object then

16



54.

99.

9 3T U e~ a7 991 & AR bl 9%g T object @RI &= B

A. the parent class object must be constructed first.
B. the child class object must be constructed first.
C. the parent class object must not be constructed.
D. the child class object must not be constructed.

A normal C++ operator that acts in special ways on newly

defined data typesis saidtobe ................

Th A C++ 3iTRex S A7 gR9IYd ST YRl R a9y @ia |

BRI BIAT B, DET ST B oo

A. glorified B. en capsulated

C. classified D. overloaded

A function in a derived class that has the same name as a

function in the parent class, then it will ................

U ged~ g H Tb BaR Tl 9ol o H Hae[ & A A 8

A. will override the base class function.

B. will cause an error message to display.

17



56.

o7.

58.

59.

C. will be overridden by the base class function.

D. will execute immediately often the base class function

executes.

A constructor always has

Uh PRgde] gAY BT &
A. communicational cohesion B. temporal cohesion

C. logical cohesion D. no cohesion

g B AT ST US DT el ST 2 |
A. Special trees B. Pointer trees
C. Threaded trees D. None of the above

In Binary trees nodes with no successor are called ...........

a7 STRIEGRT dTel IR ET AT FEATT B oo
A. End nodes B. Final nodes
C. Last nodes D. Terminal nodes

Every node N in a binary tree T except the root has a unique

parent called the .............. of N.

18



60.

61.

62.

TH 5N ¢ ST H ISP AS T H Sle Bl BlSh) Ud IAfgdr

ATaT—far 8 & 572 U BT el o1dT B |
A. Predecessor B. Antecedents
C. Precursor D. None of the above

The in order traversal of tree will yield a sorted listing of

elements of tree is ............

e H UL (in order tree) @ traversal # US @ d<@l @I Udh $HAdg

AT BT IATET BT o |
A. Merging B. AVL Trees
C. Binary trees D. Binary search trees

The post order traversal of a binary tree is DEBFCA. Find out

the pre order traversal.

TEH G ¢ BT URT S} ¢ 9l DEBFCA 21 qd & 1e¥ (Pre

order Traversal) &T YaTl MY |
A. ABFCDE B. ADBFEC
C. ABDECF D. ABDCEF

A technique for direct search is

gcgel gIol &l U db-ild &
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63.

64.

65.

66.

A. Hashing B. Tree search

C. Binary search D. Linear search

A full binary tree with 2n + 1 nodes contain.

2 T + 1 AIgd & AT UH gUT qigeT oF H g ®

A. n leaf nodes B. n non-leaf nodes
C. n-1 leaf nodes D. n-1 non-leaf nodes
To include integrity constraint in an existing relation use :
AISET ey IUANT H IRGSal el AMHA BT b (o1Q

A. Modify table B. Drop table

C. Alter table D. Create table
Which of the following is not an integrity constraint ?
fmfoRed # & o9 a1 eRd<ar awm 78 ® ?

A. Not null B. Positive

C. Unique D. Check predicate

When grouping cells within a K-map, the cells must be

combined in groups of .................

20



67.

68.

S9 K —9HfE & Niak SiRv@Ril & SEed & s 8

DIRTBRAT BT ... & Gl H SISl ST @18y |
A.2s B. 1, 2, 4, 8, etc.
C.4s D. 3s

The NAND or NOR gates are referred to as “universal” gates

because any one :

NAND a1 NOR Ied &1 "\Ilfie” e & w9 § M1 Ol &,
RifH BIg T :

A. can be found in almost all digital circuits.

B. can be used to build all the other types of gates.
C. are used in all countries.

D. were the first gates to be integrated.

Why IP protocol is considered as unreliable ?
IAMSY UIeTdidl Bl AfTad=- Fdl AT ST © 2

A. A packet may be lost

B. Packets may arrive out of order

C. Duplicate packets may be erated

21



D. All of the above
69. What is www.mail.yahoo.com

www.mail.yahoo.com &1 g ?

A. Afile B. A network
C. A topoloty D. An email service
70. What is the full form of RAID ?

RAID &1 quf w9 @17 & ?

A. Redundant Array of Independent Disks.
B. Redundant Array of Important Disks.

C. Random Access of Independent Disks.
D. Random Access of Important Disks.

Yrs—q (Ax—axqfis g3)

Section-B (Non-Objective Type Quesitons)

o S 939 (Short Answer Type Questions)

U T 1 W 20 db oY SR 8| OFH ¥ fhEl 10 gl & SR oAl 2
% e & oy 2 3 FEiRa € |

Question no. 1 to 20 are Short answer type. Answer any 10 questions.

Each question carries 2 marks.
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Define Data member of a class.

Uh I & Sl IaF bl gRYIINT o |

Define source and object program.

S R 9] HRIHH BT URHIT BN |

Write the use of structure variable.
IREAT TR BT STANT ford |

Explain INFIX conversion.

INFIX ®0TdR0T &) IRAT P |

Explain circular array.
Circular w1 &1 ST o |

Explain entity and attribute.
SICIE] TEIRIT &l AT N |
Explain entity constraint.

Entity aTem &1 U< & |
Define Network switching.
dead Rafeir &1 a9 o |
What is transmission mode ?
TIAHeE Are R 8 ?

Explain Boolean operator.

gfeTae 3iTuver BT FH= |

Explain tautology.

crerolfoll Bl AHSISU |

Explain data types of C++.
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13.

14.

15.

16.

17.

18.

19.

20.

H ++ & ST USRI B ARAT BN |

Explain control structures of C++.
A+ BT R0 ARl B IR o |

What is database ?

ST T § 7

Describe super class & sub class.

R T IR A T BT G o |

What is structure of C++ program ?

C++ UITH P AT T © ?

Describe difference between Declaration and Definition of a
variable.

Teh TR P TN SR GRATT & e IR g1 |

What are the comments in C++ ?

C++ ¥ fewfrdt @ &7

Explain formatted 1/O.

Formatted /O \HeTV |

Explain C++ stream classes.

C++ I PeTl FH=Y |

e Sa9a 939 (Long Answer Type Questions)

U AT 21 9 26 O® <Y SR 2| 398 A Bl 3 U P SR AT ©
gAd e B forv 5 3fd uiRa 2|

Question no. 21 to 26 are Long answer type. Answer any 3 questions.

Each question carries 5 marks.

21.

Define linked list and show its implemention using a C++

program.
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22.

23.

24.

25.

26.

fo &1 T3 gl B IRATINT B 3R C++ UM & ST IRd
$d HIRIIIT Bl g |

Write a C++ program to accept a word then check and display

that given word is a palindrome or not.

el 2reg @ WHR R & fu C++ G ford R a9 &Y 3R
gyefR¥fa &} f& faar ar veg palindrome & a1 921

Write a program in C++ to accept a number then display how
many digits it contains and the sum of its digits. (e.g. 345
contains 3 digits and sum is 12)

T AT B WHR B B fo1g C++ H [P HRIHA ford, fhr g4
AT 3idh Bl UaRid Y IR g8d 3! Bl sum BN (IETERT 245
# 3 3f® 3R AT 12 )

Write an object oriented programe in C++ to generate and

display prime number between 1 to 51.

19 51 P 9 UgH Fa) g9 IR YR oxa & foIv v Sifeoiae

anRucs g ford |

Write an object oriented program in C++ to demonstrate method
over loading.

Method over die &= &I fafer UeRid &= & forg C++ # 3ifssiae
kg U fored |

Write a progema in C++ to calculate monthly earning of
employee by accepting rate per day and number of working

days. Display the amount for three employees.

R /T IR I fRadl & A= Bl WHR HRd HHARNI B AIRID
BHTS DI TUET B D oIl C++ H TP HRHA ford, OF HHATRAT
@ forg <efl wefRia o
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